Differentiation Rules:

!

d (arcsinu] = u d [ | = —u' d (arctanu] = u
7, aresinu] = Neg 7, arccosu] = Nepue arctanu] = ——3
d[ ] = —u' d[ | = u' d[ | = —u'
7, lareeotu] = T o, laresecu] = N v 7, lareeseu] = N v
d d d
— [sinhu] = coshu - u’ —[coshu] = sinhu-u’ — [tanhu] = sech?u - u’
dx dx dx
d 5 d , d ,
—x[coth u] = —csch®u-u' —[sechu] = —(sechutanhu) - u —[eschu] = —(cschu cothu) - u
d u' d u' d !
e -1 _ el -1 _ _ -1 —
Ix [sinh~tu] = —uz = Ix [cosh™tu] = = Tx [tanh~tu] = T
d ! d —u' d —u'
—[coth™ u] = —[sech™tu] = —— —[esch™tu]l= ———
Ix [co u] T2 Ix [sech™ u] N e [csch™ u] AViTe

Integration Formulas:
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